
Beat That Test L4 test10b


Date: 


1)   42.45 ÷ 1000    





2) The perimeter of a rectangle has a length and breadth of 12 and 5. What is the area?  





3)  4/6 of 24  = 





4) what is 0.9 as a fraction?


5) What is 57/6  as a mixed number?


 6)  How many lines of symmetry does and rectangle have?





7)  If the programme starts at 3.45 and finishes 1 hr 20minutes later, what time does it end?


8) What is 45 cm in ms? =  





9)  What is 5 and 3/4 as an improper fraction?   


 10) What is 3/10 as a percentage?


SCORE:    /10 Time:
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